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21- While I … the newly received letters, the phone in the living room … .
1) open – rang 2) was opening – rang
3) am going to open – rings 4) was opening – were ringing

22- When I was at university, I … write my assignments by hand because there weren’t any 
computers then.

1) could 2) should 3) had to 4) must
23- A kind of ice cream was … in China around 2000 B.C. when a milk-and-rice mixture was frozen 

by packing it into snow. 
1) solved                   2) researched 3) invented             4) emphasized 

24- Because John was having a bad day, he was not very … to his friends when they came to visit 
him. 

1) hospitable            2) creative 3) informative           4) wonderful   
25- Some people believe that hand-feeding animals causes them to … their natural fear of humans.

1) destroy 2) lose 3) endanger 4) hunt
26- Many parents are not happy with the present driving age, and they believe it … needs to be 

increased.
1) hopefully 2) carefully 3) successfully 4) probably

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct 
choice on your answer sheet. 

A year for a planet is the amount of time that it takes to complete a/an …(27)… around the Sun,
and for Jupiter this takes 4,333 Earth days. As the fifth planet in our Solar System, Jupiter is 
…(28)… planet of all. To give you an idea of how big Jupiter is, you could line up 11 Earths side 
by side just to stretch from one side of Jupiter to the other. Jupiter has over twice the …(29)… of 
all of the other bodies in the Solar System. Jupiter is a gas planet, so it …(30)… what we would 
call a “surface.” The planet is made up of gases and liquids that are moving around all the time. 
27- 1) wonder 2) orbit 3) vacation 4) schedule
28- 1) larger 2) the largest 3) as large as 4) large
29- 1) materials 2) exercises 3) entertainments 4) attractions
30- 1) doesn’t really have 2) isn’t really having

3) wasn’t really having 4) won’t really have

  PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.
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